
SAP ABAP table RECP_OBJECT_C {Contract Object}

RECP_OBJECT_C

OBJASSTYPE [CHAR (2)]

MEASUNIT [UNIT (3)]

OBTYP [NUMC (2)]

ADRNR [CHAR (10)]

COUNTRY [CHAR (3)]

REGION [CHAR (3)]

SNUNRTRG [NUMC (4)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 RECP_OBJECT_C-ADRNR = ADRC-ADDRNUMBER 0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)] RECP_OBJECT_C-COUNTRY = T005-LAND1 0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 RECP_OBJECT_C-REGION = T005S-BLAND 
0..N{0,1}

TIV01

MANDT [CLNT (3)]

SNUNR [NUMC (4)]

 RECP_OBJECT_C-SNUNRTRG = TIV01-SNUNR 

0..N

{0,1}

TZVOBTYP

OBTYP [NUMC (2)]

 RECP_OBJECT_C-OBTYP = TZVOBTYP-OBTYP 

0..N

1


